




Thousands of medical students (A)/ and 

government employee(B) / are alleged to have 

benefited (C)/ from the cozy arrangements.(D) 

No Error (E) 

HOMEWORK

Find the error





VOCABULARY

APPETIZER

Meaning : Food served before the main 

course

Synonyms : Starter , Savory , Snacks

Sentence : For our appetizers we'll have 

spring rolls and fish cakes, please.



100+ 

ERROR 

DETECTION

DAY-2





a) It’s a great mistake to try to reduce stress 

and tension by avoiding challenges and 

difficulties. 

b) You do not attain peace merely by escaping 

responsibility. 

c) This part I concede is essential to evolution 

for medical science. 

d) The government rescue will enable them to 

write of unrecoverable debts, and start 

lending again.

1. Only a 

2. Only a & b 

3. Only d & c 

4. Only a & d 

5. No Error 

Solution : Option 3 

c) Replace ‘for’ with ‘of’, of –

expressing the relationship between 

a part and a whole. 

d) Replace ‘write of’ with ‘write 

off’, write off – a vehicle or other 

object that is too badly damaged to 

be repaired



a) That the medication prescribed is only a temporary “crutch”, and its role is 

over, once the pain is over. 

b) Disease, and innovations to tackle it, shall stay. 

c) One does not give a knee implant to a person, who has lost power in his leg due 

to another malady. 

d) Greater diligence in project screening and a quick exit for bad promoters must 

be the two main aims of purposive bank reform. 

1. Only a 

2. Only a & b 

3. Only b & c 

4. Only c & d 

5. No Error 

Solution : Option 5 



a) Here in comes the balancing wisdom of clinical 

therapeutics for better outcomes. 

b) The game of volumes shall have to been played on 

larger turnovers, and reasonable margins. 

c) It will also enable zombie companies, whose debts are 

written of, to invest and grow again. 

d) Certification agencies are needed, but their track 

records must be scrutinized, with penalties and 

prosecution in suitable cases. 

1. Only a 

2. Only a & b 

3. Only b & c 

4. Only a & d 

5. No Error 

Solution : Option 3 b) 

Replace ‘been’ with ‘be’, 

be – used with a present 

participle to form 

continuous tenses and used 

with a past participle to 

form the passive voice. 

c)  Replace ‘written of’ 

with ‘written off’ 



a) Auditors may not understand, but visionaries 

whom pioneered healthcare in this land need not 

change course. 

b) China is ready to engage in world trade with 

any country under bilateral or existing terms. 

c) The sagacity and wisdom of an ancient trading 

civilization were under-estimated. 

d) Banks must insist on global tendering for 

equipment to thwart cost inflation by promoter. 

1) Only a 

2) Only a & c 

3) Only b & c 

4) Only a & d 

5) No Error 

Solution : Option 4

a) Replace ‘whom’ with ‘who’, 

who – used to introduce a 

clause giving further 

information about a person or 

people previously mentioned. 

d) Replace ‘promoter’ with 

‘promoters’ 



a) Tianenmen Square and all that, was taken as 

their internal matter, and the country went on 

course, pretty close to destination. 

b) It denounces terrorism in any form, is 

sensitive, even ready to take a lead in a cleaner 

environment. 

c) It could more accurately be called a decision 

to let the pigs keep feed at the public trough. 

d) The SBI affiliate goes through the motions, 

collects its 2% fee, and signs off with zero 

liability if its assessment turns out to be rubbish

1) Only a 

2) Only a & b 

3) Only b & c 

4) Only c & d 

5) No Error 

Solution : Option 4

c) Replace ‘feed’ with 

‘feeding’ 

d) Replace ‘signs of’ with 

‘signs off ‘ signs off – conclude 

a letter, broadcast, or other 

message



a) It does not reform the woeful practices that 

have led to bad lending and bust banks. 

b) If banks disclosed in their accounts the full 

extent of bad debts, the losses would wipe out 

their equity capital. 

c) Public sector banks must create or purchase 

the expertise for excellent project evaluation. 

d) Bank managers happily lend with certification 

that protects them from CVC investigations. 

1) Only a 

2) Only a & b 

3) Only b & c 

4) Only a & d 

5) No Error 

Solution : Option 5

No error



a) Private sector banks have mostly thrived even 

as public sector banks have sink. 

b) Private banks can take quick decisions, resist 

government pressures to lend to dubious 

schemes, and accept genuine mistakes. 

c) This inflated the amount of borrowing needed 

by the project and could render a project 

unviable at birth. 

d) Without reforms , recapitalization may simply 

encourage continued bad behavior banks .

1) Only a 

2) Only a & d 

3) Only b & c 

4) Only c & d 

5) No Error 

Solution : Option 2

a) Replace ‘sink’ with ‘sunk’ 

with have. (Have + V3) 

d) Replace ‘with’ with ‘by’ 



a) The government hopes this will revive 

investment and spur the economy. 

b) Bank nationalization in 1969 led to a culture 

where bank lent in pursuance of government 

pressures, legitimate or otherwise. 

c) This process has began, but its speed and 

effectiveness have yet to be proved. 

d) Banks should but don’t have the expertise to 

evaluate all Detailed Project Reports of 

promoters. 

1) Only a 

2) Only a & c 

3) Only b & c 

4) Only a & d 

5) No Error 

Solution : Option 3

b) Replace ‘bank’ with 

‘banks’ 

c) Replace ‘began’ with 

‘begun’ with has. (Has + V3) 



a) Most of us are caught in the small part 

of life and miss seeing the whole. 

b) Without leaving our room, we want to 

see the vastness of the sky. 

c) We live a parts of the whole and that 

part is our pattern, our positionality, our 

ego. 

d) We limit our brains to limited paradigm. 

1) Only a 

2) Only a & d 

3) Only b & c 

4) Only a & c 

5) No Error 

Solution : Option 2

a) Replace ‘parts’ with ‘part’ 

d) Replace ‘paradigm’ with 

‘paradigms’ 



a) When we look at a flower, we doesn’t 

actually see the flower. 

b)  When that happens, the emphasis is on 

one’s likes and dislikes and not actually on 

the flower. 

c) one’s experience of the external world is 

a product of one’s internal mind. 

d) The struggle is to see and know in the 

light of what I knew in my past.

1) Only a 

2) Only a & c 

3) Only a & d

4) Only b & c 

5) No Error 

Solution : Option 3

a) Replace ‘doesn’t’ with ‘don’t’. 

I,WE,YOU + Do and He,she,it + 

Does. 

d) Replace ‘knew ‘ with ‘know’ , 

given sentence is talking about past 

situations in present hence it should 

be ‘know’ instead of ‘knew’



a) The ability to see something new is a product 

of one’s inner being, free from one’s past. 

b) Widespread malnutrition has been termed a 

national shame and a top priority. 

c) It is rarely about the chronic hunger of 

millions instead the country’s much-touted 

economic growth. 

d) There is, of course, no food scarcity, unlike in 

places affected with civil war or natural 

calamities

1) Only a 

2) Only a & c 

3) Only c & d

4) Only b & c 

5) No Error 

Solution : Option 3

c) Replace ‘instead’ with 

‘despite’. despite – without 

being affected by; in spite of. 

d) Replace ‘with’ with ‘by’. by 

– identifying the agent 

performing an action or 

indicating the means of 

achieving something. 



a) These are underfunded and depend on 

millions of contractual workers, mostly women. 

b) The government pays them meagre 

‘honorarium’ and ‘incentives’ less than the 

minimum wages. 

c)  As children continue to be born premature or 

underweight, the burden keeps growing. 

d) The relative neglect of malnutrition reflects a 

broader shift from preventive to curative 

healthcare

1) Only a 

2) Only a & c 

3) Only a & d

4) Only b & c 

5) No Error 

Solution : Option 5

No Error



a) For the sake of peace, the government 

has no option but to keep trying. 

b) A number of people i know go on fasts, 

every now and then. 

c)  Some of them do it for religious reasons, 

during the Navratra, or Muharram, or 

Easter. 

d) The national anthem is a expression of 

love and pride for the nation. 

1) Only a 

2) Only c & d

3) Only a & d

4) Only b & c 

5) No Error 

Solution : Option 2

c) Replace ‘Navratra’ with 

‘Navratras’ it is ‘Navratras’ 

because ‘Navratras’ are 9 days 

festive events while Muharram 

and Easter are one day festival 

events. 

d) Replace ‘a’ with ‘an’ 



a) Sadly my happiness was short lived and 

what kill it was this. 

b) A security-led approach alone is, of 

course, insufficient to resolve Kashmir. 

c) Sharma himself has stated that he is 

willing to talk to anyone who is interested 

in dialogue. 

d) Understandably, certain section are 

sceptical of the Centre’s latest dialogue 

initiative.

1) Only a 

2) Only a & c 

3) Only a & d

4) Only b & c 

5) No Error 

Solution : Option 3

a) Replace ‘kill’ with 

‘killed’ 

d) Replace ‘section ‘ with 

‘sections’ 



1) Once the tunnel for the Metro is dug under the premises, 

2) the magnetic circuits will be breach and the negative 

3) forces of physical and spiritual pollution will attack 

4) the holy fires with full force, thus diminishing their spiritual 

powers. 

5) No error 

Solution : Option 2

Explanation: the magnetic circuits will be breached and the negative 



1) Selvaraj admitted that production of green 

2) cracker emitting less or no smoke would be 

3) a challenging task, but said the industry 

4) was willing to explore alternatives. 

5) No error 

Solution : Option 2

Explanation:  Crackers emitting less or no smoke would be



1) The needle of suspicion initial moved 

2) towards 45-year- old Hemraj, who had gone 

3) missing, but his body was recovered from 

4) the terrace of the house two days later. 

5) No error 

Solution : Option 1

Explanation:  The needle of suspicion initially moved



1) The top court was hearing SEBI’s plea 

2) seeking contempt action against the 

3) Sahara group for allegedly obstructing 

4) the auctioning process of Aamby Valley. 

5) No error 

Solution : Option 5

No Error



1) The interaction with the game is still 

2) very tactile thanks to the board set-on 

3) and the probability-oriented environment of 

4) rolling the die, all of which remains unchanged. 

5) No error

Solution : Option 2

Explanation:  Very tactile thanks to the board set-up



1) If the endearingly named Sprocket pocket-size printer, 

2) were alive, you can almost imagine a sprightly impish 

3) creature leaping out of your bag and performing 

4) a bunch of silly stunts all over the room. 

5) No error

Solution : Option 5

No error



In some cases, a country leaders are simply 

confused, and do not understand what needs to 

be done. No Error (E) 

HOMEWORK

Find the error




